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Directions (1-5): In each of these questions, two equations (I) and (II) are given. You have to
solve both the equations and give answer

(@) ifp>q

(b)ifp=q

(9 ifp<q

(d)ifp<q

(e) if p = q or there is no relation between ‘p’ and ‘q’.

QL L (p + q)?=3136
II. q+2513=2569

Q2.1. 4p2—16p+15=0
II. 2g2+5q—7=0

Q3. 1. p2=49
II. q2+15q+56=0

Q4.1. 2p2+5p—12 =10
I. 2q2—q—1=0

Q5. I. p2—12p+35=0
II. q2—25=0

Directions (6-15): In each of these questions, two equation (I) and (II) are given. You have to
solve both the equations and give answer

(a)ifx<y

(b)ifx>y

(gifx>y

(d)ifx<y

(e) if x =y or no relationship can be established between x and y

Q6. 1.6x2 +77x + 121 =0
ILy2+9y—22=0

Q7. Lx =625
ILy=v676

Q8. L.x2+4x+4=0
ILy? — 8y + 16 = 0

Q9. L.x?—(16)%? = (23)?>-56
II.y*/3 — 55 + 376 = (18)?
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Q10.1.x2 — 19x + 84 = 0
ILy2 — 25y + 156 = 0

Q11. I.3x+5y =128
II. 8x - 3y = 42

Q12. .6x* +23x+20=0
IL 6y% +31y + 35 =0

Q13. L. 4x2-25x+39=0
1. 18y%- 15y + 3 =0

Q14. I.x*-72=x
ILy? = 64

Q15.1.30x% + 11x + 1= 0
I.42y*+13y+1=0

S1. Ans.(c)

Sol.

From |

q =56

From II

p+q =256

If p+q=-56 then p=-112

p + q=56 then p=0
so,q>p

S2. Ans.(a)

Sol.

From I

4p? —10p—6p+15=0

2p(2p—5)—-3@2p—-5)=0
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p:
From II
2¢°-2q+7q-7=0
2q(q-1D+7(q-1) =0
g==1

)

N | W
N | U

S3. Ans.(b)

Sol.

From I

p=7-7

From II

g +7q+8q+56=0
qq+7)+8(q+7)=0
q=-7,—-8

p=q

S4. Ans.(e)

Sol.

From I
2p2+8p—3p—12=0
2p(p+4)—-3(p+4)=0
p= %t —4

From II
2¢°-2q+q—1=0
2qq—1D+1(q—1) =0
q=7.1

No relation can be established.

S5. Ans.(b)

Sol.

From I
p?—7p—-5p+35=0
p(p—7)—-5(p—-7)=0
p=5,7

From II

q=>5-5

p=q

S6. Ans.(e)

Sol. 1. 6x2 4+ 77x + 121 =0
or,6x% + 66x + 11x + 121 =0
or,6x(x +11) +11(x+11) =0
or,(6x +11)(x+11) =0
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11
or,x = —?,—11

ILy24+9y—22=0

or,y 2+ 11y — 2y —22=0
or,y(y+11) —2(y+11) =0

or,(y —2)(y+11) =0
or,y =2,—11

Hence, no relationship can be established between x and y.

S7. Ans.(a)

Sol. I x = V625 = +25
ILy =676 = +26
So,y >x

S8. Ans.(a)
Sol.Lx2+4x+4=0
x+2)?2=0=>x=-2
.y?—8y+16=0
>(y-42=0>y=4
Ly >x

$9. Ans.(d)

Sol. 1. x2 — (16)? = (23)2 - 56

or x> — 256 = 529 — 56
~x =729 = +27

1. y¥/3 — 55 + 376 = (18)?
or y'/3 =324 + 55— 376
~y=(3)=27

A 4

S10. Ans.(d)
Sol..x>—19x +84 =0
x> —7x—12x+84 =0
(x—7(x-12)=0
ox=17,12

Il.y? — 25y + 156 = 0
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y2 =13y — 12y + 156 =0
y-13)y-12) =0
=y =13,12

X<y

S11. Ans.(b)

Sol.

[. 3x + 5y =28...(1)

IL. 8x - 3y =42 ....(ii)
Multiplying (i) by 3 and (ii) by 5
9x+15y =84

40x—15y =210

49x =294

xX=6

18 + 5y =28

y=2

S X > y

S12. Ans.(e)

Sol.

L.6x* +23x+20=0

6x*+15x+8x+20=0

3x (2x+5)+4(2x+5)=0

nX = _7 or_?4

Il. 6y* + 31y +35=0

6y” + 21y + 10y + 35 =0

3y(2y+7)+5(2y+7)=0
—7

y=75 oy

No relation

S13. Ans.(b)

Sol.

.4x*-25x+39=0

4x*-13x-12x+39=0

X (4x-13)-3(4x-13)=0
13

=—or3
X 407'

IL 18y2 - 15y +3 =0

18y*-9y -6y +3=0

9y 2y-1)-3(2y-1)=0
1 1

y=5ors

X>y
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S14. Ans.(e)

Sol.

L.x*-x-72=0
X?-9x+8x-72=0
x(x-9)+8(x-9)=0
x=9or-8

ILy? = 64

y=+%8

No relation
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S15. Ans.(d)

Sol.

[.30x?+11x+1=0

30x% +5x+ 6x+1=0

5x (6x + 1) +1 (6x + 1) = 0
1 1

X = —EOT—E

I.42y*+13y+1=0

42y* +6y+7y+1=0

6y (7y+1)+1(7y+1)=0
1 1

y:—707"—€

y=2Xx
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